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(D) (C) (B) (A). QUESTIONS Q-1
15°C 37°C 37 °F 98.6 °C A Qo |
Normal human body temperature is
¥ S $r dy el rnd 2wl | 2
Copper Ice Mercury Water Which of the following material has large specific heat.
3L ¢ A8, P Fdh a4 ‘e KB S T | 3
%ﬂ;gf;ﬁr Conduction Radiation Convection  |in gases, heat is mainly transfered by
9 3 6 7 - WIS S| 4
The number of base unit in Sl are
sl 227§ Hob i _:F_}g/iﬁfdu}(c.u:d_jg.u? 5
Power Displacement Distance Speed Which of the following is a vector quantity?
G FUs Jo? Sfue e M| 6
Mass Velocity Force Net force Inertia depends upon
NS Nm Kgms? NS e | T
Which of the following is the unit of momentum
1 ’ 3 i The number of = :U-JJJ%{LS;/A: w;’ulf 8
‘perpendicular components of force are
8000 ms! 800 ms™" 8 ms > R A YA 04 LA
Zero The orbital speed of a low orbit sateliite is
GLbd FEAS sme i i 2] 10
100 504 10 J 2.5 fﬂ-f;:‘,fl:(
The work done in lifting a brick of mass 2 kg
S through a height of 5m above ground will be
S Joi EANG AL | EBAEIS G i et 2 g5 e | 11
Electric cell Photoceli Electric Efectric bulb e S
Which one of the following device converts
generator light energy into electrical energy.
10% Nm™? 10° Nm’? 1 Nm? 104 Nm? [P St dle Fragvz, ot P A 12
Sl unit of pressure is Pascal which is equalto
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Part --—--- I I s s s —
Answer briefly any Five parts from the followings:- 5x2=10 ..u._‘/(f-.:ai,l:!/‘-?&lzl a& - Jfg;.. L J_} Cn -2
Differentiate between base quantities and derived quantities ‘a'_" {f;, IAUE Ussliss 7\ oyl Uit (i)
Define atomic and nuclear physics? ‘2’;: h.:'/‘.’.d’..ff/}:*;: s L i)
Differentiate between rest and molion. -25 & hJjL oy sty (iv) Define plasma and geo-physics?¢ &% i /U 72 sl (i)
Write two types of motion? ?érﬁi pdelr (v)
Define force and write its S.1. unit? ?&7..-,‘:_' S.IE 1l &TJ/JJJ,? {vi)
Define momentum and write its equation? oz =ty d;!.ul é..g/‘?Jr‘"? {wvii)
Wrrite two advantages of friction? 2l i L ) (i)
Answer briefly any Five parts from the followings:-  5x2=10 -qf(}:.:,i,[z/‘:"ﬁlzl &l', - ch:. 9= J_J Cn -3
Define Resolution of Forces. &% i/ 3 3Tefdsy (i) Define head to tail rule 2L v Uk )
Define gravitational Field strength. .25 s /§ 0 (W 553/ (iv)  Define ganvitational constant.-25 s/ e ¥ uy/ (i)
Define Power and write its unit. -2 &y ¥ 1u12E /6t (vi) ~ What is the Field Force? S YUt (v)
Define Energy and write its unit. -&".:;g K i ez:’_»/'JJﬂ (vii)
What is meant by Mechanical Energy? fe sy Ve J.)IJ‘/-*J: {viii)
Answer briefly any Five parts from the followings:- 5x2=10 —//zfel2 ZL171 §he e & Jitn -4
Write any two features of kinetic molecular model of matter. & Py 3SR Gdv e (i)
Write any two properties of fiquid. _Z‘_U..-.t_,-vr';» Jdet (iii) State Hooke's law. —E;:Ul_a g (...{ (ii)
Define heat. e vpf = (iv)
Convert 300 K on kelvin scale into temperature on celsius scale.  -2= Jf £°U% £/ J’CJf?f}/{ 300K ; JFud (v)
Define conduction. -2";--:’/’71.;&3*‘, (vi)
What is greenhouse effect. - lf..-c"-l -,)'ih;,f/‘f (viii) Define land breeze and sea breeze..éqﬁwﬁﬁ;ﬁ d.c(-) (vii)
Part 11 [ -~
Note: Attempt any Two questions. 9x2=18 S fen L ety 8 e
Derive third equation of motion with the help of graph. ;"’4 _’jéjiic_ YA J_}I/..-.i:l.f d/."J.:// (§) M3
A body of mass 5 kg is moving with a velocity of 10 ms™. 5 K2/ VS Sre Sud 10 ms",ﬁ’_gwap/)’ 5 ()
Find the force required to stop it in 2 seconds. U Knd LE S
Define potential energy and derived its formula A4 PE. = mgh_éjér U Kul»f.’:f":'..,i_v?n._,fu’.}i J}’{ O)-6
P.E. = mgh
Find the magnitude and direction of a force, if its /s ...-e;:f Y2 Nesd x6 e ternis Ui (L)
x-component is 12 N and y-component is 5 N -«-5N
Define specific heal. How would you find the specific /74 J(:l"’é’,»ﬂ".:,;l}tf()'w"’-ﬁ-q/..éi/‘U.a"f_—.uV Or7
heat of a solid e e
A student presses her palm by her thumb with a force /.*"5 < tg:ff@/éw;‘d’ 75N c..i;"‘I ’@_-IH'\._Ju’ -Q (_.,)
of 75 N. How much would be the pressure under her Wil 2y nE i p L5 em?E LEAL U

thumb having contact area 1.5 cm®

962A- 0918 - 58000 $4°0-7-]-2°18
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Note:- You have four choices for each objective type question a

S e QL LS L PAPER CODE
s A B, Cand D. The choice which you think is correci:

fill that circle in front of that question number, Use marker or pen to fill the circles. Cutting ar filling two or more circles

will result in zero mark in that question.
sides of the Answer Sheet and fill bu

Use of ink remover or white correcling fluid is not ailowed

Write PAPER CODE, which is printed on this question paper, on the both
bbies accordingly, otherwise the student will be responsible for

the situation

(D} (C) (B) (A} QUESTIONS Q-1
o . . " = IRy Ufu_ufﬁfd.v_l:& o J‘,f St
In Si units, number of base quantities are
e KL ;
ms”’ ms? Km h Km R’ b vyt | o2
In Sl units, unit of speed is
2 ? L2 ' . 1 .
Bl Bty g2 =" UrsB¥ L Seh Ly ] 3
¢ ;‘ ‘ }- ) v r.- A 1
Formula of centripital force ' 7, ' is equaito
St uf)’fr s 242V 5 i (,/‘JJ A (u-? 4
Velocity Acceleration Force Displacement | Rate of change of momentum is
Zero e 0.707 0.866 One {i |Valueofcos90°is e (rd fcos90° | 5
ST S i B VARG S e 6
Einstein Archimedes Ohm Newton an who came up with the idea of
as
(.5—?&1 sk A7 S -L{?a_, IC;JH_/"J.- 7
Efficiency Power Pressure Energy r&e of doing work is called
) _ Iy a1 IR
PE=mah | PE=mgh |PE=mgh'| PE=pmg M&E shlali oy
Forfifula of potential energy is
Four i Three & Two o One {1 & _:..,__H__. rexists in the states. .« tell LUl dL 9
; oyt | 10
0°C 373K -273°C 213°c WE S Elyiidre
1 ﬁ called absolute-zero.
6ot S| 11
Jkg'K’! JKg' K JKgK' J Kg K SRS R AR 1S
In S! units, the unit of specific heat is
O L ol SNy —e BB pr g | 12
Absorption Convection Conduction Radiation in Solids, heat is transferred by.

963A.0018- 42000 (1)
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Part ------- 1 L,iw' __________________ o

Answer briefly any Five parts from the followings:- 5x2=10 ,q&/’gux}?&lzl éﬁc—ljf’::-ucd_'ibu _

Differentiate between base units and derived units L L UMV AL (i)

What is meant by prefixes Py Ve ,"'G‘J{ (i)
What is meant by least count write the least count of metre rule. _g"‘_;,-;g_},_.}“,}/-.{_:_ Jr/g; s i
Define translatory motion and give an example. e -",i'ﬂu-é'/”"t}/u;:‘d ’,,}»Lg (iv)
Differentiate between scalars and vectors. E LIS SR ()
Define centripital force and write its mathematical form. _éfdu Suin et §ut 587 i)
State law of conservation of momentum. i;,f_fu[fu;g E’J’-u;fl. Kl.‘,, tvii)

What is meant by inertia. ce sty e Lot (i)

Answer briefly any Five parts from the followings:-  5x2=10 _qf;f_-.ux/‘?élm &5 c..lj)/c.,uﬁ Jibs -3

Define resultant force? ?Q/_.g/""dzuj;’ﬂ); {i)
Differentiate between centre of mass and centre of gravity? ‘.'ujf(fl: SpL Sy SST AU ST~ i)
State Newion's law of gravitation? sy fz ol S L e (i)
What are artificial satellites? ey Ve el (iv)
What is global positioning system? Write its use? AR is’Jl e ST By S (v)
Define work and write its Si unit? ui':ji:;f.:z‘:jSI K .uf(_{fhé_ffur_ﬁ; (vi)
Define heat energy? Write its some sources? -2.'1781.:34‘:&: Wi ‘.‘uj/._éf/‘?J&ju.-;.- (vii)
What is meant by efficiency of a system? Write its formula? W /g f- U6 ¥t oty L_/‘-_ Ls"?' T (viii)
Answer briefly any Five parts from the followings:- 5x2=10 wd/{f&&'ﬂﬁ&lzl &g = ch.. o in s -4
Why water is not suitable to be used in a barometer? Ttw Lﬁu;);f Ur.rt/db:’luf}fr/;. :rdl (i}
What is meant by principle of floatation? Sc_ s/ Ve UL 7 (i) State Pascal's law? 25 Suic L FL (i)
Change 300 K inta celsius scale of temperature. ‘.‘&:"_:J_'A,F@f g_,wuf"“/f,f-,d 300 K{J’.LL-J)I( (iv)
Define heat capacity and write its unit? ?g..:},f 1l ’é.@,ﬁ.!fgf&,u {V)
Write two factors at which ratio of radiations emitted depends? ezl o ;u»b(b/‘d' Ll ei?d sl gﬁldé;{u’-Jh’u (vi)
Define green house effect? : “Z—:_{J}JJ,_,Q’-J Jiw:/” {vii)
Differentiate between land and sea breezes? 4 5'3 YA ‘f.‘ul s ﬁ) (viii)
Part 11 ( -

Note: Attempt any Two questions. 9x2=18 -L,f/(]’.::,yizé clynedf -2
Derive the third Equation of Motion with the help of Speed-Time graph. /" 4 -2'_-'-' apl=lsle L_,‘/-J =S4 J it/ r" boir O)s
A body of mass 5 kg is moving with a velocity of 10ms™. A5 sl VS S7e S5 § 10ms ™ LK UL rl/"}’/ 5 (&)
Find the force required to stop it in 2 seconds. ﬂt,{/"(}”u;;’%m.f_ L L a2 fUi
Define potential energy and give an example. Also derive its formula, / 4 s e ’fé.-?,;Jd)f J""';.' ($)K
A force of 100 N is applied perpendicularly on a spanner at a s in»f{ ey L 10 Cme 2l 100 (L)
distance of 10 cm from a nut. Find the torgue produced by the force. _Zg (ﬁ*‘..;CL‘ s sty e S d‘hf
Explain the linear thermal expansion in Solids. / < ) RS ik J:*’u'f(lztldr"‘ 0)-7
A Steel wire of 1m long and cross-sectional area / 5 Lk J"‘J"'u'if 5x107° m? Lt JJ.;@/"-' 1 ()
Sx107° m? is stretched through 1 mm by a force of St 1 mms du i i 9 10,000 N
10,000 N. Find the youngs modulus of the wire. -rif(:“’u)eir*rg- b’xtJf{— Cloy
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